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Time : 3Hrs. Sem. V - Ag Engg.

F. S. Drawing

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer  Any Two questions from Group C, each question 

carries 20  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        How much span is useful for lean to roof.

(a) 1 meter 

(b) 4 meter

(c) 5 meter

(d) 2.5 meter

Which is the most suitable scale for drawing

a residential building?

(a) 1 : 200

(b) 1 : 100

(c) 1 : 50

(d) 1 : 20
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(2m x 1.8 m). There is a front verandah 2.2 m wide:

Adjust the position of bathroom and kitchen and 

draw sectional plan of the building. Thickness of 

wall in rooms is 300 mm and of a kitchen and  

bathroom is 200mm size of door is 1200 x 2000 mm 

for a room and for kitchen and bathroom 

(750 x 2000mm). Size of windows (1000 x 1200mm). 

Provide doors and windows suitably. 

(Assume any missing data suitably)

3 11504

P.T.O

(iii)

(iii)

(iv)

(ii)

The thickness of  damp proof course at 

plinth level is generally kept.

(a) 25mm

(b) 50mm

(c) 80mm

(d) 100mm

Three board in a septic tank is generally kept.

(a) 5 cm to 15 cm

(b) 10 cm to 15 cm

(c) 1.5 cm to 25 cm

(d) 30 cm to 45 cm

OT5004OT5004



1711504

P.T.O

Draw an elevation of a steel roof truss (half view)

for a span 7m, Rise =1.75m. All components of the 

truss are made of an angle section. Tei beam 

(single angle) = 75 x 50 x 6 mm, Principal rafter 

(double angle) = 50 x 50 x 6 mm, width of supporting

 wall =300mm.

A residential building has two bedrooms of size

(3m x4m), a bathroom (1.2m x 1.8 m) and a kitchen

8.

20

4 11504

(v)

(v)

(vi)

(iv)

If span is more than 9m, which type of truss 
may be used in inclined roof?
(a) King post
(b) Queen post
(c) Any one of two
(d) None of these

Which type of view of drawing is required to 
measuring all components of building.
(a) Only plan
(b) Only elevation
(c) Only section
(d) All of the above
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The end support of the arch or slab culvert is
called:
(a) Column
(b) Beam
(c) Abutment
(d) Span

Height of the parapets on both side of culvert
is generally kept.
(a) 75 mm
(b) 100 mm
(c) 200 mm
(d) 600 mm

(vii)

(vii)

(viii)

(vi)
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window for opening of  (1200mm x 1100 mm)

chowkhat = 100mm x 75mm, size of vertical strip 

& other strip =75 mm x 40mm. Thickness of pannel 

board =25mm

(Assume any missing data suitably)
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The slope of a comfortable stair must not be

more than:
0 (a) 25
0 (b) 40
0 (c) 60
0 (d) 75

The vertical distance between two 

consecutive tread is called:

(a) Flight

(b) Landing

(c) Coing

(d) Rise

(ix)

(ix)

(x)

(viii)
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OR

Draw sketch of a strip footing.

Answer any Two Questions. 
20 x 2 = 40

Draw the plan of an open well stair for given 

specifications:- Size of stair case =5m x 3m

Distance between ground floor and first floor =4m

Rise =150mm, Tread =250mm, Length of 

step =1000 mm, Thickness of walls in stair 

case =300mm  (Assume any missing data suitably)

7.

20
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In king post truss, the member placed normal
 to the principal rafter is called :
(a) Strut
(b) Common rafter
(c) Purlin
(d) King post 

The triangular portion of a side wall in 
inclined roof is called:
(a) Cable
(b) Verge
(c) Eaves
(d) Valley

(xi)

(xi)

(xii)

(x)
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6.

4

Draw the sketch of a couple roof.

brick wall of drawing a sketch.

OR

5.

OR

4
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At which height, window is provided in a room

from the floor level?

(a) 10 cm to 25 cm

(b) 20 cm to 60 cm

(c) 25 cm to 70 cm

(d) 75 cm to 100 cm

If the area is small, the scale of drawing should

be:

(a) Small 

(b) Large

(c) Same

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)
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                                   OR

4.

Draw an elevation of a fixed window.

Draw the sketch of a peir in an arch culvert.

V- 

plinth level. 

3.

                                   OR

4                     

4                     
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The vertical member in outside portion of a 
shutter of a door is called
(a) Style
(b) Frame
(c) Horn
(d) Hold fast

The diameter of under reamed pile is 
generally kept.
(a) 15 cm to 25 cm
(b) 30 cm to 60 cm
(c) 40 cm to 60 cm 
(d) 50 cm to 75 cm

(xv)

(xv)

(xvi)

(xiv)
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Answer all Five Questions. 

2.

4 x 5 = 20

Draw the cross section of RCC rectangular beam

and show position of reinforcements.

(xx)

4                     
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In drawing of a building elevation is :

(a) Top view

(b) Front view

(c) Side view

(d) None of these

In residential building tread of a stair is 

generally kept.

(a) 100 mm

(b) 150 mm

(c)  250 mm

(d) 400 mm

(xvii)

(xvii)

(xviii)

(xvi)
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The standard size of separate bath room 

shall be:

(a) 800 x 1000 mm

(b) 1200 x 1800 mm

(c)  2000 x 2500 mm

(d) 3000 x 2500 mm

The size of title block shall be on a drawing

sheet of size (841 x594 mm)

(a)  100 x 100 mm

(b)  150 x 100 mm

(c)  150 x 150 mm

(d)  150 x 200 mm 

(xviii)

(xix)

(xx)

(xix)
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